4 | B
Since. +he diagenals bisect eadn other, LMNK 15 a
parallc\ogram. That eliminafes dhoice. D, sine a
trapezoid s not a -Pam((elogmm. We also Know
+he cli'asonals are wn/jrue_rﬂ‘ which wueans LMAK is

o rez;fangle.o

F ol D
T MEAT s & ‘Para\le,\og‘am) then 115 opposite cmﬂ[és.
ATe. Cuonjruent Therefore s,
lox + 1K = 5><-+Y
Simpliy — ~Ba ~5X
X+l = \/
Tf \ou substitute the x,y paics from Hhe choices iafo
X+ =Y, yov Gnd 4ot choies B and D are
ossible  solutions. To eliminate. another choice, vse
He Sact thot ME&T is not o rec;+cxmc35le, and)
therefore does not lhave 90° angic’sc

TE X=13 (awie B) +Hens TF X=|5 (chic D) then s

MLE = @X +19- MLE = lbx+\2
=6UDHFIZ = e(15) +12-

= ‘io"‘ /_\_v s (Oa—’a

Correct choice., sine not o might angle.



#+3 Y_r-;é) SRPR s a. vhombus

There. VS not emough normation ‘o determine it all
four sides of SRPA are conﬂruer) 20 instead we
will check 4o see i the” diagonals are perpendicular,
I H’tﬂ.\} are. | —+hen SRPA 15 a rhombus, Considei™ +he
A with side lengths 10,24, and X6. See F the
lengths form P\/—l—hagorzcm triple.
107+ 4™ = 26™
100 + 576 = @l
I = 76
Since. +he 'P\/--i'hoSormn re;iod—(onship holds +rve,
Sp L AR ond Hurefpre SRPA 15 & rhombus,

P VT = 3%
Sines. VWTR 15 a r‘ec‘j’cml \¢> ¢
other and are (:msr’um\ . S50 & wz =14, Huen
2 =1 as well, whidh makes WR =&8. TF
+he diagenals ae ecya\ Pen VT 2 WR and
o 28 as well

s dia%onals bisect each

#5 L
The exterior angles & a- polyqon a\ways add vp o 30,
“Therefore
X + 9B + 88+ 3L+ 90 = 360
X+ 26 = 30
7 = @pl-



H#o P00 g Tt

Notice. +hat a reguiar he,xagon {5

composed of six Congrue_n"" -h—{ayglgs,

I you £nd e areo. o5 one A) you

covld multip\ e b @ ‘o aet ’H/'LL
Y i )

"i‘o‘f’a_\ \reo,

’ﬂu’\i are e;j/ui \ateral "l”rianglc‘f: (o reau lar Waﬂr;n‘s
interior angie:s are |30 s0 ‘!‘W_"h‘imgle.s' base angles
must be. nalf that—= @o® ), Uﬁincs +he 30°% wo™-q0°
A relationship (see d(agmm) we know fhot hals
the base e BNE and Huwrefore the enhire base
le,nsm s o=,

Area. = _base «heidht = (‘%’3}(@ = 14,434
= E3

(43N = 86, G #

+77 55° — +ra,p620fd

“The. intenor cmgleﬁ of any g_uadr[ lateal total REO.
e == T = |1 s = 30
m/s X + 305 = 30

mLX = 55°
Note. that both peirs ot adjfuuﬁ’ cmglas are 50pplmmi&ry,
70 +\10 = 120 : 55+ 1S = 180

- \:l;s“ ) //0:\1' - Sine. same -Side inferior
/ \ aﬂ(jlﬁé are 5oppwtm+ary>

: ’ le)

X /55° He lines are Para\ )
—/_’ > . :"C—"‘ which makes TVWX o~

\

r)rrape,zpid ‘



++8 _
TH HI is a median,
Then T is +he m‘ad-Po'm‘l—

oFf Eo.
Y.+ yz>
¥

I = (=53 ; B+
El <z

M‘idpo‘\(ﬁ‘ = (X. X5
L

J = (-3,2)

Si'mp\\[

GB

-
(-5/5) K (7]5)
| K |t
— 1// ,//
! AR P
(-1)-D€,

TE 6K is an alfitude, then s perperdicolar 4o FH.

starT ofF G on +he ﬂraph and travel c\ir"ec;HY up

until you intersect FH ot point K. The coordinates are s

K= £~1,86)

49

There. are. thee. possible
locations for point T ~Heet™
Wil ensore. He Fwo sets of
paralle| sides o pacallelegram
requites. To find Hwem, use
Hhe Lot ot Parallel lines
hove +he same slope.

)
N
N
IS
———"//
¢ // \\
x Y
N -
o L 8 //Jw" 7 AT—
.——"'//
/// E
G
17 -+

LT opposite LG

LT oppesite. LE LT opposite. £ R
To Sc.ﬁ' 4o & from E, To 3&‘1‘ fom R +o &,
you 4ravel ¢ units vp +rowel vp 2 onits and

ond G units rfgh‘f‘c For
o pam\ic\ 54’.3;’}’194’1“—, +ravel
G units up ad @ r(ﬂh‘i’

o Poiﬂ’\' R.

T = <|)%>

9 vnits rig\rﬂ’. Follow

Hhat Px\'h fom E 't-o
qet ancther set of

coordinates o T,

1= (7,0)

To 34';[" to R From &,
yeu travel X ovnits down
and 9 ovnits left, Follow
+hot ch:\"h ftom E 4o
get” the last possible
locotion o T,

T = (I, 7H)




+ 10 (2.2) GB
The. circomeerter of a iaﬂ3\€. = fiﬂ})idis*'a”'r fom its
Vertices, so ot is Yz aenter of the cdircle +hod Clrewmscribes i
Therefvre, You must Fnd the intersection of Hwe triangle.
zdos Pe.—paﬂdi(,t)\&r bisectors,

Suppose We £ind 7.(_\31
He 1 bisectors / -
of 6€g;’ﬂU1+5 _ g
AC and BC, and ' ~!
fhen ind their / N T L 71T lco3)
point ot infer- L__---—-'"""""#r
section. B(-51)
[ I

The midFom-\‘ K BC s
#H5eq. |+

( é;: y ,‘:72> 7 (&“>‘9‘>

“The slope gk BE. et

S = 2. _ q.

q9-5 4 T 7 |
The P«@A’F&qc{fcu\ar bi<ector most

The midpoint of AC 153 ,
i
I
l
i
i
|
| contain the point (2,2 and \a
|
‘r
!
|
I

(32,%F)—» (3,5
The slope of AC iss

B-1 = .= Tl
qG-"3 =% 3
“The. pexpend icolar bisectvr must contain

He po'\rﬂ' C?,C_D ard have 5109& o

= ) b 6IOP& —79
5= gz:):‘b 2 = "7(D+b
5=9+b 2=-4+b
e bt ity £2
\1:3)4"‘“‘{ V_:' —7x+_|(9
l =
Now set e +wo 661})6&"'0”5 eﬂlyﬁ\ Yo eadn cther o %00(
+he 7?0‘\1’\“{’ of intersection.
B=H ="t le ¢ x=2 4hen:t
3X = “TX +20 = 2(2) -4 )
O% =20 y= 64 (&Z)&

Yoo gl \{951.
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GB

For a_ more Visual soluHon , vse the

idea of parallel sides 4o Fnd +he 4th

N

~
-

ver+eX of “the reéi’o.nﬁle, Araw in the

d:aﬂonm\.‘;, and Lrd Where Hru,y Cross,,

KN
y

\‘\

1
&

Or, vsing the Fact et chaosona[s st o

r’ec;i“aﬂg{e, bisect eadn other, sk mP\\i’

Find the midpeint of +he d\aﬂonal

L'onnu;Hnﬁ (-4,1) and (7, 2).
P= (2, 12) = (1.5,2)

A

ITF A XZR s eqilateral, R will lie

somewhere. on the \ine =G (ha\ﬁu«u{

op 2z, T+ Wil aeo form +wo

20°- 60— ° -H?(m3\63 : .

X To ‘Flﬂd "H/lL F

Hue friangle’s a\t
de‘lP\ small \

of’%%w/ 20 - 0-90 A
by J3.

Hi{z = 6.9

A

ks

Sincz H. X-coodinate of X and Z e R, simply add 6.9 o 32’+ the

e i T R,
X—coordinate. © R —» (806‘)(0)

413 .
year Population

Convert eadh popolation erﬁ'q/ 1901 | 238,396,327

. B . : 1911 | 252,093,390

b fx"m?'ﬁ‘:’ nﬁ@hoﬂ, IS 1921 | 251,321,213
o one digit (seetable), Then 1931 | 278,977,238
you can identify +he requested 1941 | 318,660,580
, 1951 | 361,088,090

\ EATD, 1961 | 439,234,771
911 1971 | 548,159,652

taal 1981 | 683,329,097

a3 1991 | 846,421,039

1| 2001 | 1,028,737,436

a % 102
3 % j0?
2 X 0%
3 x 108
3 % 0%
H x 10°
M % 10’6
50X ID
7 X o®
gmo?’
|xio

3><|O8



1

ov
need o knawo how many aobt feet ae in one cubic
meter,

Tn oder 1o aonverT adbic meders o auvbic _Fee:l_) OB

3,28
avbic &+,

| meter =3.2% feet —» meter

p | cwbic = 35.48%
4;& meter cobic feet
e =

Volumie. = B85,088:8°

QD m> y 35,288 &7 - 88 §+°

| m®

#H15

Notice fhad at eadh vertex of +he 535"
ec}_uila‘l’a‘cgl A (point A, i exampie_>, B
Foor an les svrmund e Pom'i‘, TwWO (e
are. A0° angles and one s & GO argle, SR ’
That leaves [20° Sor LBAC which ! d
means ABAC % obtuse, Therefore, 1S § F
Ion%zsf' side_ 15 BC, Since +he hexagons N 4
sides are not all (:onsr Uefﬂ’ (huH" are. Hiz. E i
\mg’l’h of @C and half are the lenﬁ‘Ha of the
s@uam's sides)?

NoT EquiILATERAL

The obtuse. triangles are isosceles, with base angles measoring =8
Each oF +he \fw_xcggcn‘s Vertices are aomgr‘isec\ € a 20° ang\e_
and o 9O° anﬂl'e., Since 'Hu\/ are. all 130T the h/;mgon =

FQUIANGULAR



#

As the box 15 being +ipped, tts

tallest part wWill be_ alena the dfaﬂona.(.

cean “Thesrem o Snd

Use. the P\/-ﬁn 0
gt B asapess Han & feet;
2+ 57 = ED”
q 35 = BEp~
34 = ED™
5.83 = ED

Sine. 5,83 s less +han G, the box

51t

3 ft

6 ft

can be +'PP€CL

G
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